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ConTeXt &7 774 ZICHEIN TV AP T, BEDRWIZUTD X5 TF !

markii : (EEHFHEL TVT, ¥R - LIy i
pdftex & xetex 7ZJTY, WEICHA—-—FINT
W7z aleph FHA—FINFEFHRA,
pdftex DHADHEITHE texexec sourcename
xetex DHHDFEITIE texexec --xtx sourcename

markiv : luatex % T VPV ET5HD% markiv EFWVET,
U EAEAZILL TuET,
markiv Tl¥, FEEEREGROL D 72T, HAGE
ATy FTELXIHICHE>T0EERVET,
BOA T3 nihongo % 3BRENEAINTVLET,
COBEEWET 201213, HAESY A Ty b
DIV—=IVIZFELWAD, BFFICHE T2 L
I RYITT,

W32TeX TlE markii D> ¥ v & L Teptex & euptex DY R—FLTWET,

pA

% testl.tex

yA

\starttext
ZHUIHIDTDT AT,
\stoptext

(eptex DEHDT 7 4V LYy a—F 4 v 7ldsjis THY, euptex DEFEDT 7 4V
Frva—5 4 v 7UF utf-8) 1Tk L T,

texexec —-eptex testl
b B

texexec ——euptex testl

95 L, testlpdf BRI INLE T, &EB. markiv iZ W32TeX TIEF2—4235 ko
EREFA VA= MEEEZTZHEND D 3, Wi LuaTeX 3METT,

installmk4
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EWwH aey F2EITT 5 E, markiv A Y A P =)L ENF T, markiv DFEfTIX
texexec T3 < T

context sourcename
ELET,

texexec -—eptex testl
texexec --euptex testl T

HARGEZ TIRRICHHTE £ 925, markive XeTeX 2P v T35 DTNAY —2—
F23modules ZFHFH T 2D0AETL X 9,
2B, synctex ZEANTT %121, markii TIZY — AT

\synctex=1
ELTEZEX T, markiv TIEY — AT
\enabledirectives[system.synctex]

ELTEEET, BOED markiv TIXHIZRD L 91297 L T synctex 25BN D
7,

context --synctex filename.tex

B | ConTeXt D45

ZDOXETIX, L LT e-ptex, e-uptex £ ConTeXt markii IZDW CfEHIZIAN
TVET, ZOXHEHAED e-ptex 1D ConTeXt markii TIER L T\ E T, LuaTeX
IVY Y ET 5 ConTeXt markiv IZFEFICH I TH D, BIE ConTeXt & & ) BAIC
IERERIZE T markiv ZHE L £,

X T ConTeXt 121x% < DR H D £ 55, MetaPost D XL ZEEDATE LD —
DDFHETT:

\midaligned{%

\startMPcode

u=1lcm;

drawarrow (-.5u,0)--(4u,0);

drawarrow (0,-.5u)--(0,2u);

pickup pencircle scaled 1pt;

draw (0,0){up}

for i=1 upto 8: ..(i/2,sqrt(i/2))*u endfor;

label.lrt(btex Function $y=\sqrt{x}$ etex, (3,sqrt(3))*u);
label.rt(btex $x$ etex, (4,0)*u);
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label.top(btex $y$ etex, (0,2)*u);
label.1llft(btex $0$ etex, (0,0));
\stopMPcode}

DEHITHEOTENT
texexec ——eptex —-passon="--shell-escape" sourcename

DEHICEGTT DL, WIFEL K MetaPost DIX%E A2 Z ENTE £, shell-escape
ZEF S 20D 5 Z LITHERL T IS v, FEEICP>THRET

Y
Function y = /z

v
&

O]

R 72 7B3H0UEI L TFET, bBAAH 6L DG D MetaPost TIX % ERk
LTEE, ZhWZiArAb I b TEET, M7 74 VORI

example.mps
DEHIT, PEEFZ mpsICLTEEET, 9L C
\externalfigure[example.mps]

DEIIC L THZFHARDITHEFTT, XIhlzdbFTE8EET, ZITIHERLE
M2 FGtAIAA TR E T,
ESE4

DT Z 7KDL T

Function y = /x

v
8

)
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F 72, ConTEXt ¥ — 2 F)UIKIE L 72 gnuplot % {# 9 B4y, 1E#E gnuplot 2 7Y 7k

ZEIRTH T LB TEET:
DUFDRA 7Y 7 Tk LT

\midaligned{%
\startGNUPLOTscript [attenuation]
set style function lines
plot [t=0:6] \
[-1.2:1.2] \
a=1.2,\
omega = 6.6, \
lambda = 0.8, \
alpha = 0.8, \
OMEGA = sqrt(omega**2 - lambda*x*2), \
f(t) = a * exp(-lambda * t) * cos(OMEGA * t + alpha), \
f(t) linewidth 4
\stopGNUPLOTscript
\useGNUPLOTgraphic [attenuation]
}

XD DR SN E T :(gnuplot ZFESD T, shell escape 2346%)

.l f(t) —
0.5
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WER7 7 A NZHDIATICIE, EZIEXRDEIHIICL FT:

\midaligned{%
\externalfigure[pic.pdf] [width=10cm]
} %(from pdfTeX)

\midaligned{%
\externalfigure[parametricsurface.pdf] [width=10cm]
} %(from Asymptote)

7272 L, YA REHEIC ImageMagic @ identify.exe ZfiH 2 DT, Z4123PATH 2
SROMPDEIICLTEBABENHD T,
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C 7AVMDYALXERDTRAK

OF7AILNYAX

Normal size

\tf normal shape

CHUITET DT A I, This is a test.

\bf bold

EFIIZI> vV, This is a test.

\it italic

PEFIEE O,  This is a test.

\sl slant

BEFIEE DY, This is a test.

\bi bold italic

EFRI>y VETEDLGEVW, This is a test.

\bs bold slant

EFRI>y VETEMEVW, This is a test.
@ 1BEREVTAX

\tfa 1 step larger fonts

\tf normal shape

CHUIEET DT A L, This is a test.

\bf bold

EFIFIY v U6, This is a test.

\it italic

BT OW, This is a test.
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\sl slant

PR DY, This is a test.

\bi bold italic

BF Iy VETEDGEW, This is a test.

\bs bold slant

EFR>I Yy VETEDEW, This is a test.
@ 2BEXREVNTIX

\tfb 2 step larger fonts

\tf normal shape

ZHUIETF DT A b, This is a test.

\bf bold

EFIFEIVy Y1, This is a test.

\it italic

BEAIIEHE DI,  This is a test.

\sl slant

BEFIIEHE DF, This is a test.

\bi bold italic

EFREIDy VETEDMRV, This is a test.

\bs bold slant

EFIIIYy VETEMRV, This is a test.
@ 3BREREVNTIX

\tfc 3 step larger fonts
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\tf normal shape
ZUTHEF DT A I, This is a test.
\bf bold

EXEIYv UM, This is a test.
\it italic

BEIT@ETE D, This is a test.
\sl slant

PFII@EFE OIS, This is a test.

\bi bold italic

EFEXI>DY VETEDGEW, This is a test.
\bs bold slant

BFE>IVYy 7FTEIEVW, This is a test.
Q@4EBREREVWVTIX

\tfd 4 step larger fonts

\tf normal shape
ZIUFEF DT A+, This is a test.
\bf bold

EFET> v 71k, This is a test.
\it italic
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I D2, This is a test.

\sl slant

AT DY, This is a test.

\bi bold italic

BFR>IDy 7&TEDGEVL, Test.
\bs bold slant

EBXEIIy 7ETEDGVL, Test.

LEDEIC7 AV b AREFICHT a2y FOKEEIC LI ITh>TVET,

\tfx & \tfxx FLHEE3, HIZIL
{\tfx A test. HFZHM/NHL7zDHD}

{\bfx A test. T Zii/NL7zbD}
{\itx A test. HEF 2L 7bD}
{\slx A test. HEF 2L bD}
{\bix A test. HF 2L 7bD}
{\bsx A test. HFZf/INL7bD}
{\tfxx A test. HFZMiNL7=bD}
{\bfxx A test. HF 2L 7=bD}
{\itxx A test. EFZHiL7cbD}
{\slxx A test. FT Zifi/hNL7cbD}

{\bixx A test. HFZi/NL7-bD}
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{\bsxx A test. HTZM/NL7bD}
DOROETIDBELENFET,

A test. FETFEMNL7Z DD

A test. EFZfILIEHD
A test. HEFEMINL 2D D

A test. HETEMINL7ZHD

A test. BEFZMNINLIEHOD
A test. BEFZHRNLIEDHD
A test. HEFZMHNLI DD

A test. EFEWNLIEHD

A test. WEFEMNLIZHD

A test. FTZMNLIZH D

A test. BEFEZFNLIEHD

A test. EFZEMRNLIEHD

DA77 4V kD size of body font = 12pt DHZATT, HIiC
\switchtobodyfont [arg]

k> Thody 74 P DY A XREEHETLIENTEEY, T Targ & LTHEHT
Z5DlL4pt, 5pt, 6pt, 7pt, 8pt, 9pt, 10pt, 1lpt, 12pt, 14.4pt, 17.3pt,
20.7pt TY, 13pt, 14pt, 15pt, 16pt, 17pt, 18pt, 19pt, 20pt, 21pt, 22pt,
23pt, 24pt, 25pt, 26pt, 27pt, 28pt, 29pt, 30pt D&LHEH HAGEIFHEL TH
DETD, X7 4 v EBZELL BV HINEEA,

20.7 X4 v+ OH

BRIy 78TELEV, Test.
\bsd

E%Hj W K
Test.

30 74 v FOHARGE

—
E?“F% %Eci, \bsd
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D FEEGHI

Math
sin?6 + cos?0 = 1
W15 eic 3t (1) RIEED 6 1B L RIS 5.

sin(a 4+ b) = sinacosb + cosasin b

cos(a + b) = cosacosb —sinasinb

A (2), (3) FIMEEH EMHEIN S,

a b ¢ X

A=11 2 3 Y

A B C Z

X (4) BfrdlopITd 5,

a b ¢ d e f
1 2 3 4 5 6
B A B C D FE F
f e d ¢ b a
6 5 4 3 2 1
F FEFE D C B A

H (5) RITAIROHITH 5,
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